EXPERT SOLUTIONS ONLY ON
UNNATI EDUCATIONS

This Question Paper consists of 54 questions and 15 printed pages.
W UYA-UT § 54 YT 2T 15 Higd U ¥

Roll N’o. Code No. 67/ OS/l

CIRERIC] CIC
SET/4% | Al

ECONOMICS

LIS
(214)

Day and Date of Examination :

(udteyr &t fgq & feian )

Signature of Invigilators :

(Friterent o TTe) 1.

General Instructions :

1.  Answers of all questions are to be given in the Answer-Book given to you.

2. 15 minute time has been allotted todead this Quiestion Paper. The question paper will be distributed

at 02.15 p.m. From 02.15 p.m. 6 0280 pan:, the students will read the question paper only and

will not write any answer on the Answer-Book during this period.

Candidate must write his/her Roll Number on the first page of the Question Paper.

4.  Please check the Question‘Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that tHe'questions are in sequential order.

@

5.  For the objectivestype of questions, you have to choose any one of the four alternatives given in the
question i.e. (A),(B),(€), or (D) and indicate your correct answer in the Answer-Book given to you.
6.  All the questions including objective-type questions are to be answered within the allotted time

and no_separate time limit is fixed for answering objective-type questions.
7.  Makifig any identification mark in the Answer-Book or writing Roll Number anywhere other than
thelspecified places will lead to disqualification of the candidate.
8. _Wiaite your'Question Paper Code No. 67/0OS/1-A on the Answer-Book.
9, (@), The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.
(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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Note :
(i)  This question paper consists of 54 questions in all.
(i) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section - A consists of :
(@) Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying®d mark each. Select and
write the most appropriate option out of the four options givefi'in each, of these questions.
An internal choice has been provided in some of these gdestions. You have to attempt
only one of the given choices in such questions.
(b) Q.No. 21 to 35 - Objective type questions carrying 2 mdrksreach (with 2 sub-parts of 1 mark
each). Attempt these questions as per the instructions given for each of the questions
21 to 35.
(v)  Section - B consists of :
(@) Q.No. 36 to 46 - Very Short Answer type questions,catrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 47 to 52 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
() Q.No. 53 and 54 - Long Answer #ype questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
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(b) WY HEAT 47 | 52 Tk AY-ITIT YR % - 3ol & F97 & 1 S 50 & 80 vl H feam
SR
(C) W9 WEAT 53 i 54 <H-IT YhR & UTA-UTH ikl o T & FI7ehT 3T 80 & 120 vreai | feam
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SECTION - A/ @UE - <h

1.  Which one of the following statements is correct ? 1
(A) Human wants are unlimited.
(B) Human wants are insatiable.
(C) Human wants are unlimited and insatiable.
(D) None of the above.

Frfafed sl § o8 @@ T2

(A) A STrEwIshaTe ST Bt ¥

(B) HMdTa awashdisil st it gut git & 2t T

(C) WHETE STeREHaN STEfHa 2t § o 376t qof it #ft 7= 2t 2
(D)

D) S H HE T
OR / et
Food items are produced in :
(A) Rural areas (B) Urban areas
(C) Rural and urban areas (D) None of these
e Hal 1 SIS Tl ST ©
(A)  TITeoT & (B) el &l H
(C)  TITEIOT e IR & | (D) 39 & el
2. (i)  For their productive services the factors areypaid : 1

(A) rent and wages

(B) rent, wages and interest

(C) rent, wages, interest afd profit
(D) rent and profit

LT hl TR STEH, HasTl h el T fohal S ¢
(A) A T A

(B) TITH, HSIg qe TS|

(C) M, AT, &S] qeI Y

(D) e e

OR / 3t
(i) Geedsand services are produced to satisfy :
(A) \, Seeial wants
(B) . Human wants

(€)» Human and social wants
(D) None of these

g IR st 1 I hT Tt & fore foman S € -
(A) TSI STEvIhard

(B) WMHTT SEvIHATE

(C) WM T ISR TR

(D) T i e
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3. (i) Production is defined as transformation of inputs into : 1
(A) Development (B) Output
(©) Inputs (D) None of the above
3G o SANTAl 1 36 TRATdd i o &9 H GRIfea fopan s @
(A) fawm (B) fid
(C) T (D) ST H HIE Tl
OR / Yt
(i) When we are hungry we take :
(A) water (B) rest
(C) food (D) all the above
I8 T WEA I A © ¢
(A) (B) fagm
(C) @M (D) ST |t
4. (i) Before purchasing any good the first step is to : 1
(A) make a choice (B) arrange money
(©) go to the shop (D) all therabove
el o o1 TG 9§ T8l BH 9ol heH g sardl usdl | ¢
(A) & =T (B) & hl =ereen
(C) T TS (D) SR Feft
OR / 3tean
(i) Non-food items are producedin
(A) Towns and gities (B) Farms
(C) Factories (D) None of these
R-are wE} 1 IcaTed Bl foha Sl ¢
(A) Sl T SiEs (B) Wi
(C) hRaH (D) & i &
5. (i) ¥ In barter system there was no involvement of : 1
(A) men (B) machines
(C) measurement (D) money
T fafTo= gomedt § et g areE & o
(A) wI= (B) I
(C) e (D) °=
OR / e
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(i) As more goods are produced more-resources are :

(A) Developed (B) Used up
(C) Distributed (D) None of these
S-S eafush Sl 1 Scare 2iaT §, Sifus g
(A) foefead 8@ € (B) wWEEdE
(€ foaf@an e (D) T & *%E T
6. (i) We consume various kinds of : 1
(A) Goods and services both  (B) Only Goods
(C) Only services (D) None of the above
TR fafir= geR & a3 €
(A) &L TN Fad S (B) o U
(C) Had Jamd (D) IWRIK H HIE &
OR / YT

(i) Which one of the following statements is correctg
(A) Services are tangible
(B) Services can be stored
(C) Services cannot be stored
(D) None of the above
frfafed § HF-9 %o ' 2
(A) FE XA B
(B) Hansii 1 WU B Hehdl gl
(C) Tt 1 HIE FEi,3l Hhdle |
(D) S H g el

7. (i)  The proddetion of various goods and services requires : 1
(A) Man made Fesources
(B) "“Natural resources

(€©) Bothhman made and natural resources
(D) »All the above

fafy= agei 3iR ansti & Seues o ffafaa =t sevashdr vedt ©
(A) ¥ HfHa daed

(B) Wihfcieh HHIEH
(C) =i wra HfHd qen yrekfaer e
(D) YU |t
OR / 3teran
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(i) Increase in demand for goods and services increases the demand for :

(A) resources (B) labour
(C) capital (D) all the above
gl 3R Fanew w1 A ¥ gfg Fefafed w5t @i F gfg wd €
(A) HHEA (B) ™
(C) st (D) W qft
8. (i) Inour daily life we come across a variety of : 1
(A) Goods (B) Services
(C) Goods and services (D) None of these
39 <R Sfe § g9RI ST WHAT BIe ©
(A) erege (B) med
(C) =g aiiR Janaii (D) =T g e
OR / 3eran
(i) The larger is the surplus, the larger is the productive capacity of the :
(A) People (B) Economy
(©) Investor (D) None of these
s1fiver fora stferer grm ffafed ot ST @i Sast e ST 5@ ST
(A) (B) (@agi=ragen
(C) fafe (D) DT I TE
9. (i) The quantity of the good pufchased‘at a given price at given time is called : 1
(A) supply (B) demand
(C) production (D) none of these
T T T8 T S B QIR FHd R feu T gag H Tl S, wedn
(a) @y (B)
(C) 3eaIsd (D) ¥ & T
OR / e

(i) Demand for @ commodity can be represented by :
(Bypdemand schedule
(B). mdemand curve
(€) “demand schedule and demand curve
(D) supply schedule

& Y T 1 IUH 39 YRR foha ST Hevell & -
(A) T HRO

(B) W aH

(C) T XUt qe | a9

(D) e TRt

67/0S/1-214-A ] 7

9899436384, 9654-279-279




EXPERT SOLUTIONS ONLY ON
UNNATI EDUCATIONS

10. (i)  Which one of the following statements is correct ? 1
(A) Demand and desire are two different terms
(B) Demand and desire are same terms
(C) Demand determines price
(D) None of these
frefafed wedl § & 9& 2
(A) T IR w1 & i v ¥
(B) T 3TN 391 U & UK T
(C) @ hiua Fuffed et T
(D) T8 g TE
OR / YT
(i) By related goods is meant :
(A) Necessary goods (B) Substitute goods
(€) Complementary goods (D) Substitutegand Complementary goods

graf-ard seqet 1 9% 31 T
(A) 3TETIH TEU (B) TG TN
(C) T T=Y (D) CRTIA T2 e T

11. The quantity of a commodity that a#sellerieffers for sale at a given price at a given time is 1
called :

(A) demand (B) production (C) profit (D) supply
fordt g =t g urn 5@ wifaskar fAi¥a #imd W 9fd s 999 § 9= 1 19K ¥, Feard ¢ ¢
(A) T (B) eI (C) @y (D) 3Yfd

12. Information irf nature,is : 1
(A) qualitative
(B) guantitative
(C)ty bothaqualitative and quantitative
(), none of these

Gl WY | 39 YRR I Sl ©

(A)  ToTHS

(B) HE&ATH%

(C) TIUICH AT HEATHE Sl YR
(D) T i el
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13. We consume these types of goods : 1
(A) Food items
(B) Non-food items

(C) Food items and Non-food items
(D) None of these
B9 30 YhR i T3 1 ST LT © :
(A) @& HS
(B) R-wE W
(C) W A g TR-wm 7
(D) ¥ T
14. Destruction of nature adversely affecting : 1
(A) Human life (B) Social life (C) Political {ife (D) all the above

Yehfd Tl o meT 38 8 T 9 JIfad ™ @ME ¢
(A) ¥ Sfed (B) @ISR Sfed (C)  USHITdeAlSiiad (D) SWIsd 9t

15. Pollution is caused by : 1
(A) smoke (B) dust (C)igas (D) all the above
T HT RO IE ¢ :
(A)  gam (B) 4d C) = (D) SHER |+t
16. Water pollution affects ; 1
(A) colour of wateg (B) taste of water
(C) chemistry of watex (D) source of water
STt FgUOT TH SR |
(A) ST T (B) el I TS
(C) el SRR T (D) a1 €
17. < Production is defined as creation of : 1
(A) »Only goods (B) Only services
(€C) Goods and services both (D) Utility
SIS ! ST Goi & &9 | qRefya foran Siran €
(A) had TEgsl (B) hadl Harl
(C) aEget IR Fansii <M (D) ST
67/0S/1-214-A ] 9
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18. Supply of a commodity by a firm is called : 1
(A) Market supply (B) Production
(€) Individual supply (D) None of the above
fopell =g 1 Toh W BT SYfd 1 I8 el ST ©
(A) @SR #ATYfd (B) Seqred
(C) = S (D) SR & & HE A
19. Barter system is a sign of : 1
(A) modern civilization (B) ancient civilization
(C) historical development (D) monetary development
o Fafer ot e P # -
(A) YR Tl (B) T Wl
(C) Ufrefae faswm (D) Hifeh ferehra
20. A consumer is the buyer of : 1
(A) Goods and services both (B) Only goods
(C) Only services (D) None of the"above
ST STeRT Shell Bl § :
(A) TEgsll IR Fansti A (B)  shacl aeqsil
(C) Hact Jansif (D) B & | e &
21. State whether these statements are true/false : 1+1=2

(i)  To satisfy our wanits wesbuy goods and services from the market.

(i) Now-a-days thé market ishot flooded with many type of goods.

Tt shert wet € 2 ST

() ST STCREFISie Tt F % T 70 IR ¥ oRqel To Hansii w1 HF FA |
(i)  STSIHENSTSIE STk TR i o3l 9 T T2 2 |

22. Fill'imthe'blanks : 2
Raa = ‘qﬁ'q :
(i) 0 "Agricultural crops cultivate and items.
FHiT Feet qo TS T R |
OR / et
(i) International trade is and of goods and services.
gl qer Yenst qe ST &R B |
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23. Fill in the blanks : 2
Rad T ’Tﬁ'q :
(i)  Production activities involve making of and .
SeareA T fafer | R & M HI Wi fhaA1 ST B |
OR / 3
(i) The payments received by labour and capital for their productive-services are callgd
and respectively.
g qem Yot gRI ST 3cAeT Hanstl & fau urd fovw MU e shEe: e
FeE B |
24. (i)  The resources used in production are called and the goods and services 2
produced are called .
SATeH B Y HHTEH FEAM TN Seurfed TEqEl e Hem
e € |
OR / 3
(i) The two technologies of production are called techirology and
technology.
SeqE it & qehrATRl LERICARIl dehrlehl el g |
25. (i)  State whether following statements aregrue/false : 2

(A) Demand curve slopes downwardsfrom left to right.
(B) Supply curve slopes upwards as per lTaw of supply.

frefafed wem we € o1 s,
(A) T Tk S | I T AR ST e 2 |
(B) MY % f1a™ & STIHI SMUfd &Ik FWR I ST 2] el S|

OR / 3eran
(i) Fill in the blanksg
Rad T ’Tﬁ'q :
All the fagtors whiehVinfluence supply of a commodity also influence its
_ U supply.
3 Gy FRE S TRt o T S = g had § 39 smyfit
Fipsfl FHHfTTFTd 2 |
26. (i) < The“emtrrency of U.S.A. is called ___ and the European currency is called 2
I TET, H Hidl T AT HY HLH FHEA B
OR / 3
(i) A bank is an institution which accepts money from public as and gives
to them.
Sk Teh GEAT ®, S Sa1 § & ®9 H g1 TR Fl © 3R 3 =l
2l
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27. (i) In the study of Economics _ informations are mostly used for _ 2
amﬁawﬁ_%mg@m@_wmﬁW%
OR / 3teran
(i) When we use the data which have already been by others, the data are
called data.
S T9 3 3NThS] BT YA i & ForTent vgel & TEdi % g foran <1 g1 ®, Ty
Afrs SAfhs Head ¢ |
28. (i) In terms of wages and salaries, sector pays more than that of 2
sector.
ASigy R 9dd o Sy & GEECIRCL - N AR R
FA T
OR / 3eran
(i) As a result of economic relationship with many countries Indiay, many
commodities to foreign countriesand __ mdnyleommodities from foreign
countries.
g <M W AR Tl o aRumY e MRA facgil o1 e el TGS
3R faceli @ w2 axgeii & I B
29. The environment includes all the and factors that influence each 2
other in nature.
oo § geft qen FIehiNh! THTCTd fohal ST © St i o Toh GO
guTferd d
30. There is a direct relationship betwéen the amountof and the amount of 2
produced.
! AN qgdl ScaTiad F AR H YA T T
31. State whether these statemeénts are true/false : 2

(i) Demand for a eédmmodity by a single buyer is called individual demand.
(i) A afAdyB purchased 2 kg and 3 kg mangoes respectively. Market demand will be 6 kg.

Frafafamysha e © o1 o ¢
(i) €ONTF She1 ST TRl o kT | BT AT T gl STl |
@ A G2 B 7 U 2 kg q1 3 kg 3TH B | ISR W 6 kg B |

32." The symbol of Rupee is and one rupee notes are issued by . 2
T o fae € A1 Th T A2 gR1 SR fohe S 1
33. Need for money arose due to of . 2
el B % HRUN T i STEIHRAT I T |
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34. 100% accuracy in statistics is neither 2
Hifegant | 100% RS = %aﬁvr?r %l
35. In our economy agriculture is included in sector and manufacturing is included 2
in sector.
AN 27 =aeen § &y &l &5 | adl %! fgdiaeh & # |t fod
TR
SECTION -B / @Us - @
36. (i) What does production function tell us ? 2
IS et gH 1 STl © 2
OR / 3141
(i) What are the factors of production ?
IS & T 1§ ?
37. (i) Differentiate between demand and desire: 2
a7 31K T=31 § 9 wifs )
OR / 3teran
(i) How does climatic conditiomyaffectsqdemand ?
A9 fore YRR A1 ], guIfad Rl © ?
38. (i) Differentiate between Bank and Banking. 2
S g Sifehll T 9 T |
OR / 3141
(i) How does the Bank keep valuables of people in safe custody ?
SR G T A HHM ford TR R W § 2
39, (1) » How do people in rural areas earn their livelihood ? 2
A el § forg R Sitfaeht 2afsa s € 2
OR / 3eran
(i) What do forest products include ?
99 316l H T wffad foran Smar € 2
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40. (i) What are private Goods ? Give examples. 2
frsit e o Brelt © 2 3eren i |
OR / 3teran
(i) Explain producer goods.
e TEGT hl THART |
41. What are factor payments ? 2
I A FTE € 2
42. What is meant by data ? 2
Mhs frl e &2
43. What are the characteristics of a small scale industry ? 2
T ST it FoRIoad 30 2t € ?
44. What is meant by water pollution ? 2
ESRFUEIE R Y
45. In what ways is production disposed of ? 2
SeTe 1 o w1 H Sl ST © 2
46. What is meant by demand curveg? 2
AT o5k s hed © 7
47. Differentiate between fr€e services and economic services. Give example. 3

37 TansTi aun HfieREaneT | 98 IfvT | 30 ST |

48. Explain the importance,of primary sector in providing raw material to industries. 3

TET hl e, ITe 9 hid | g1 &5 i Hecd THET |

49. WHhat is‘meant by labour intensive technology of production ? 3
BeHiG i, TH e Aehieh 1 P e ¥ 2

50.% (i) © Explain the method of collecting primary data through correspondent. 3
Wfiek TSl I HATE ST GRI Hehel i i fafe THeET |
OR / et
(i) Explain the meaning of total product.
T 3G h1 37 THSAET |

67/0S/1-214-A ] 14
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51. (i) What causes air pollution ? 3
Mg IS F T HRT & ?
OR / YT
(i) Differentiate between renewable and non-renewable sources of environment.

YITeRU] o TR qe T-Taeheoig FaeF | 9 sife |

52. (i) Explain consumers’ right to be heard. 3
YIRS & G ST o ATHR ] FHART
OR / 3AYaT
(i) What does soil degradation refer to ?
fy frefiertor § s stfvum 22
53. Data are basis of Government policies. Explain. 5

iR TR il o1 SR B § | FHee |

54. (i) Explain the production activities included im the'seédndary sector of our economy. 5
TR 379 sFeren o fgdiaeh &5k § witfeayscarad vfd fafeei =l a9=msu
OR / 3teran
(i) Different countries of the world seem to be coming together. Explain.

fova & fafir To T T FMHET T U B € | HHEET

-00o0-
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